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123242 56 757 89 :;<=>?@ 8@AB@

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
G C C

1− 3 MD D
1− 4 NF D
1− 5

FM D
2− 3

FO E
2− 4 PD E
2− 5 NP E
3− 4

FF D
3− 5 MG D
4− 5

GE E
P = 63, 26, 77 Q

123242 56 76 7 R =9BS 8TA UV

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
G C C

1− 3 MD C
1− 4 PN D
1− 5

FD C
2− 3

FG D
2− 4 PG E
2− 5 NG D
3− 4

FW E
3− 5 MF D
4− 5

FG C
P = 34, 74, 47 Q

123242 56 7X 7 R :9 BY<BS Z:BT [?\

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
F C C

1− 3 MF D
1− 4 NC D
1− 5

FP C
2− 3

FM D
2− 4

GP D
2− 5 PO C
3− 4

F C E
3− 5 NN D
4− 5

FF D
P = 45, 22, 48 Q

123242 56 7] 7 Z?9^V =@BS RY9 =A

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
EN D

1− 3 NN D
1− 4 ND D
1− 5

G C D
2− 3

FM C
2− 4 PP C
2− 5 NC C
3− 4

FN C
3− 5 ME C
4− 5

FN C
P = 21, 67, 46 Q

123242 56 7_ 7 ` [BT BS a <:SB9 Bb

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FP E

1− 3 NN D
1− 4 PP D
1− 5

GE D
2− 3

FG D
2− 4 PE D
2− 5 ME D
3− 4

FE D
3− 5 MP D
4− 5

FM D
P = 57, 53, 51 Q
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C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FM E

1− 3 MF D
1− 4 NN D
1− 5

GE E
2− 3

FG D
2− 4 NF D
2− 5 NG E
3− 4

GM D
3− 5 MD E
4− 5

EW D
P = 25, 24, 80 Q



123242 56 7f7 g =V :@BS<;?\ h :@?<

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FF E

1− 3 NW D
1− 4 NP E
1− 5

GD E
2− 3

FM C
2− 4 NG D
2− 5 NW D
3− 4

GD D
3− 5 MG D
4− 5

FW D
P = 76, 78, 23 Q
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C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FW E

1− 3 MD E
1− 4 NC E
1− 5

FW D
2− 3

FN E
2− 4 PN E
2− 5 NM D
3− 4

FN E
3− 5 MG D
4− 5

FN D
P = 45, 49, 62 Q

123242 56 7l 7 j Y;=@?@ 89 :;<=@bT

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FO C

1− 3 MF D
1− 4 NM C
1− 5

G C D
2− 3

G C D
2− 4 NO C
2− 5 PP D
3− 4

G C D
3− 5 NM E
4− 5

FD E
P = 41, 28, 27 Q

123242 56 75m 7 n>?A=Te@ h =S?b

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FD D

1− 3 ME D
1− 4 NG C
1− 5

G C D
2− 3

FP D
2− 4 PG C
2− 5 PF D
3− 4

GN D
3− 5 NW E
4− 5

EP D
P = 22, 77, 50 Q

123242 56 7557 oT B@:p;?@ h V?AT ?\

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FG C

1− 3 MG C
1− 4 M C D
1− 5 PP C
2− 3

FM C
2− 4 NC D
2− 5 M C C
3− 4

GO D
3− 5 MF C
4− 5

FD C
P = 49, 32, 72 Q

123242 56 756 7 q:V :@BS h V ?AT ?\

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FP C

1− 3 MF D
1− 4 NO C
1− 5

GW C
2− 3

FD E
2− 4

GN D
2− 5 ND D
3− 4

G C D
3− 5 ME D
4− 5

EP C
P = 59, 23, 79 Q

123242 56 75X 7 q:T [::S g B@<A=@A?@

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FM C

1− 3 MF C
1− 4 NG D
1− 5

G C D
2− 3

FD D
2− 4 PE E
2− 5 NO E
3− 4

G C E
3− 5 MD E
4− 5

FE D
P = 53, 25, 41 Q

123242 56 75] 7 r;=p aep:<9 =S

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
GO D

1− 3 MW D
1− 4

WD D
1− 5 ND E
2− 3

GP D
2− 4 MG D
2− 5

WF E
3− 4

GO C
3− 5 MN D
4− 5

FW E
P = 44, 35, 36 Q
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C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FG C

1− 3 MD D
1− 4 NP D
1− 5

GN C
2− 3

F C E
2− 4 PF E
2− 5 NF D
3− 4

GF E
3− 5 MP D
4− 5

FF C
P = 77, 38, 47 Q

123242 56 75c 7 t:T @ku :S ` [BT

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
F C D

1− 3 MP E
1− 4 ME D
1− 5 P C E
2− 3

GO D
2− 4 PM C
2− 5 ND D
3− 4

FM C
3− 5 ME D
4− 5

FN E
P = 54, 46, 53 Q

123242 56 75f7 t?T=T= v =V ?b

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FE D

1− 3 MG D
1− 4 ND D
1− 5

FF C
2− 3

G C D
2− 4

GW D
2− 5 PE C
3− 4

FO E
3− 5 NM D
4− 5

FG D
P = 50, 22, 74 Q

123242 56 75i 7 w :uY;BS g ?T ?99

C

D

E

F

G

HIJKL
Lk,j τk,j

1− 2
FO E

1− 3 M C D
1− 4 MD D
1− 5 PP E
2− 3

FN C
2− 4 NC C
2− 5 NW D
3− 4

GD C
3− 5 MP D
4− 5

FG D
P = 65, 75, 51 Q


